Winmeen VAO Mission 100 | 2018

General Studies Model Questions - 1

A and B travel the same distance at the speeds of 10 kmph and 15 kmph respectively. If A takes
30 minutes longer than B then distance travelled is

(A) 15 km (B) 20 km (C) 90 km (D) 30 km
Ans- (A)15km

A B eatenid @mait, @61 smsHms  wemmpBw 10 &l /wewdl, 15 &.iS/wewnll  GeumhHalev
BLbH OFeodmrisst. B- & ol 30 PlLmsel SiHsnd A abbaid OQsTardBmT eefsd
SINTH6T HL_[hFH OF6eTB HITID 6T6dte0r?

(A)15 8.8 (B)20&8.8  (C) 90 &.15 (D)30 &.15
Ans - (A) 15 &.16

Remainder when the polynominal 5x° + 2x? — 6x + 12 divided by (x+2) is

(A) 5x*-8x + 10 (B)x+8 (C)-8 (D) -72
Ans - (C) -8

5X3+ 2X° — 6X + 12 -gp (X+2) — o6 auGHss HvLbHED 158 61g1?
(A) 5x* -8x + 10 (B)x +8 (C)-8 (D) -72
Ans - (C) -8

In a rectangle if the length is increased and breadth is reduced by 3 cm then area is reduced by
18.cm? If the length is reduced by 1 cm and breadth is increased by 2 cm then the area is
increased by 14 cm? Actual length and breadth of the rectangle are respectively.

(A) 13 cm; 10 cm (B) 14 cm; 9 cm
(B)12cm; 12 cm (D) 15¢cm; 8 cm
Ans - (A) 13 cm; 10 cm

QM OFussHsr Hemd 3 OFL  oene oFsfeEsllB  oiBb 3 QF5  Sieney
GMBBHBULLLT60 LFLiLeTeuTengl 18 G182 oiemey GmBHB B, BehbHed 1 QF.I5 Slene)
GOBHBLL[BH BVHHL 2 OF.10 e H&MSHULTE0 UFliueTeuTengdl 14 QF152 ismey
P &fHH BLD. sleflsd DFCFEIMNBHHEH H6ND LBBID DH6VD (PenBEU

(A) 13cm; 10 cm (B) 14 cm; 9 cm

(B)12cm; 12 cm (D) 15¢cm; 8 cm

Ans - (A) 13 cm; 10 cm

Edge of a cube is increased by 50% then find percentage increase in total surface area of the cube.
(A) 108% (B) 125% (C) 90% (D) 80 %

Ans - (B) 125%
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QM & FHPHAT UBBD 50% 2 WTHSHUULLT DiHed  GomTHs  UBLuFinied  emu L
SFHHMNULT6T FHeldHID sr60Ten?

(A) 108% (B) 125% (C) 90% (D) 80 %
Ans - (B) 125%

129° — 29° =7

(A) 12000 (B) 15000 (C) 15800 (D) 10000
Ans - (C) 15800

129° — 29° =7

(A) 12000 (B) 15000 (C) 15800 (D) 10000

Ans - (C) 15800

Sum of a number and its reciprocal is 4 then value of sum of cube of the number and reciprocal of
the cube is

(A) 64 (B) 52 (C) 48 (D) 24
Ans - (B) 52

QT 6Teml LOBEDID DUFH6eh HMeLBIPUTT Fnl BHOBHTMS 4 6660, DiSIGOIETERN6T (LPIDIOG  LOBBILD
(pwiguile Hemeudl SUSWIBSEN Fnl (HHOGHTENS 6el6laleTe]|?

(A) 64 (B) 52 (C) 48 (D) 24

Ans - (B) 52

An angle and its supplementary angle are in the ratio 4 : 5 then that angle is
(A) 80° (B)100 (C) 40 (D) 50

Ans - (A) 80°

m GCamewip ot Wens Blys Csmewmipd 4 0 5 eeiB  el&EHHHe0  QmULIed
DIHCHTewID 61517

(A) 80 (B)100 (C) 40" (D) 50

Ans - (A) 80°

HCF of x? — 2xy + y? and x* — y* is

(A)1 (B)x+y () x-y (D) X*—y*

Ans - (C) x-y

X2 —2xy + Y wpmin X* — y* sydwsiplen BHOL®G OUTS ai@Hd (15.0UT.6u) 6157
(A)1 (B)x+y () x-y (D) X*—y*

Ans - (C) x-y
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10.

11.

12.

TAMIL is coded as RCKKJ then MATHS is coded as
(A) KCRJQ (B) KCRRU (C) RCKKU (D) RCKJQ
Ans - (A) KCRJQ

TAMIL eaeigmip  Gamsdb RCKKJ ety @puii Lrdsnd  Gauwimn Lrsd  MATHS  srenid
Garsonds@ i @RuiLTssD 615?

(A) KCRJQ (B) KCRRU (C) RCKKU (D) RCKJQ
Ans - (A) KCRJQ

Among five liquids A, B, C, D, E the boiling point of A is less than that of E but more than that
of B where B has a higher boiling point than C. The boiling point of D is higher than that of E.
Which liquid has the least boiling point?

(A) A (B)B ©c (D) D
Ans-(C)C

A B, C, D, E eietis mpbas Biokisenem A-uler Gard  Geuliumensowimeng E-uleir GQorg)
Geauliuplemsvenul ol &b @GempauTaalld B-uls 0srd GQeuliuplensvenuis ST IQeID HISHOTH)LD,
B-ulewrg C-uleit Qard) Geutiuplensvenuids SMigeld NHswrsean Rmesdpal. D-uldsr Gsmd)
Geutiuplensowimengl E-ulenenss STl ganid Digle safsd sibsd BTosdlen Csrd GeuliLmplenso
WeH GHOBauTd S HHEGID?

(A) A (B)B (©cC (D)D
Ans-(C)C
n™ term of a series is given by a, = (-1)" (1-n+2") Then 5™ term of the series is
(A)-21 (B) -6 (C)-28 (D)6
Ans - (C) -28
Q® Osriflear N-eub o _mitn] srapid amiut® a, = (-1)" (1-n+2") aaé CaTHoHsILL BaiTeng
eTetlley DIHOHTL M6l 5-10 2 i e1g?
(A) -21 (B) -6 (C) -28 (D) 6
Ans - (C) -28

If k+ 1, 3k and 4k + 2 are any 3 consecutive terms of an Arithmetic Progression then value of k
is

(A)0 B)1 (€2 (D)3

Ans - (D) 3

K+ 1, 3K wpmib 4K + 2 syduien @@ gal BH OHTLMed Siemwdlsiipen siefev K-eir 10
(A)O B)1 (€2 (D)3

Ans - (D) 3
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13.

14.

15.

16.

17.

Find the missing number :
1,3,6,10,?,21,28 ....

(A) 16 (B) 15 (©) 20 (D) 17
Ans - (B) 15

ABLL L 6TeuTen6mTd HT6euT :

1,3,6,10,7?,21,28 ....

(A) 16 (B) 15 (©) 20 (D) 17
Ans - (B) 15

A monochromatic light of wavelength 589 nm is incident on a water surface having refractive
index 1.33. Find the velocity of light in water.

(A)3x10%ms™ (B) 332 ms™* (C) 280 ms* (D) 2.25 x 10® ms™*
Ans - (D) 2.25 x 10° ms™

oflallevmed stemt  1.33 2 enLw [Hfler g 589 NM Siemev  HeM(PHL W  @BedB BB a6
uGdmg. HilaeT @efulsr SHenFCashHmad Hewbad [H.

(A)3x10%ms™ (B) 332 ms™ (C) 280 ms* (D) 2.25 x 10® ms™*
Ans - (D) 2.25 x 108 ms™

The colour light emitted by LED depends on

(A) its reverse bias (B) its forward bias

(C) the amount of forward current (D) type of semiconductor material

Ans - (D) type of semiconductor material

6l 2 10D enL Guimgsd 2 1OWOLGBLD eeMullel BIBLD  -----mmmmemmmm FMTHDHSHI.
(A) oimeh LenBamdb@ &L (B) oim681 (peiBenés@ &L
(C) wenBanmé@ TG L Si6re) (D) gompaLHd QuTmeisr alens

Ans - (D) geoomslsH8 Gurmeien almd

Which is called “Aqua tortis?”

(A) H.SO, (B) HNO, (C) HCI (D) HsPO,
Ans - (B) HNO;

“OIGaIT LIMgerd” 6IeimenipshslLBaIS! 61517

(A) H.SO, (B) HNO, (C) HCI (D) H3PO,
Ans - (B) HNO;

Insectivorous plants not able to synthesize enough protein due to the definciency of
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18.

19.

20.

21.

(A) Hydrogen (B) Carbon (C) Nitrogen (D) Oxygen

Ans - (C) Nitrogen

&S o eniiamid SHTCUTRIGBEIT ----------- UBBTE@GmpBaleimsd LTsHmd SHWmles (Lp1geuglsuens.
(A) enemL e (B) asmirues (C) empL_yegein (D) eyusdmen

Ans - (C) enpl e

The total amount of energy release from one molecule of glucose on oxidation is about

(A) 2600 kJ (B) 2300 kJ (C) 2900 kJ (D) 2500 kJ

Ans - (C) 2900 kJ

QT (WPVEFmBl GHEHHCHETaL (pswowiten sFMCabpoHdler Cural CeusflLBGHHID D BBed 6
Si6TeY

(A) 2600 kJ (B) 2300 kJ (C) 2900 kJ (D) 2500 kJ

Ans - (C) 2900 kJ

Which is known as “Sundew Plant?”

(A) Cuscuta (B) Drosera (C) Vanda (D) Viscum
Ans - (B) Drosera

G&fw uelbamiend STouID 6T6eiim DPSHBILIGIS

(A) serv@L LT (B) c_yerSym (C) eumemr_m (D) aflerosid

Ans - (B) C_yerSym

Which player of India played most Test matches as captain?

(A) M.S.Dhoni (B) S.Ganguly

(C) Mohammed Azharuddin (C) S.Gavaskar

Ans - (A) M.S.Dhoni

SiFswren el Cumligsefey GslLanTs ellenemwimouwl @b e wimr?

(A) erib.eterd. Gapmend (B) s1610. ®mIGHI

(C) wpsa SiFTmST (D) st6r0.m6um6TOSIT

AnNs - (A) enib.etero. Gxpmend

Which is the first team to play 900 One day International Cricket matches?

(A) Australia (B) Srilanka (C) India (D) Pakistan

Ans - (C) India

900 @ ®mrsit FTeuha SAMbOsEL GUTsHeisd ellensmumgul el 6157
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22.

23.

24.

25.

(A) peroaBreSiwim (B) @6viiens ©C) @pwr (D) urderogmeit
Ans - (C) @bglwr
The Indian rupee symbol ---- was adopted by Indian Government in the year --------------
(A) 2006 (B) 2010 (C) 2011 (D) 2007
Ans - (B) 2010
@bHw murulsns GBUILTE -3 RbHUl DJF FBBISOBTEHIL UHLID ------------
(A) 2006 (B) 2010 (C) 2011 (D) 2007
Ans - (B) 2010
Which Act legally recognized the principle of election to the legislative councils?
(A) Act of 1861 (B) Act if 1892
(C) Act of 1909 (D) Act of 1919
Ans - (C) Act of 1909
FLLLD6IIBRISEhSHSTeN CHTHmev FL LTINS gBmIs OdTemiL &L LD
(A) 1861ib e &L LD (B) 1892ib eyewi(p FLLID
(C) 190910 oy &1 LID (D) 19191 eyewmi &L LD
Ans - (C) 19091p eyemi® &L LID
NITI Aayog came into existence on
(A) 1% January — 1950 (B) 1* January — 2015
(C) 1™ January - 1947 (D) 1* January — 1948
Ans - (B) 1* January — 2015
NITI 218wrs SIpasE CsTamh suylul L b
(A) egemmeufl-1, 1950 (B) meweud-1, 2015
(B) mewouf-1, 1947 (D) egemeufl-1, 1948
Ans - (B) ggeureufl-1, 2015

According to Socio-Economic and Caste Census (SECC), 2015, which state has the highest
literacy rate?

(A) Sikkim (B) Tamil Nadu (C) Kerala (D) Haryana
Ans - (C) Kerala

201560 BLBS geaps Qurmentsry &rd  eurfwmen  sewaCsGlla  (SECC) g dipaameni
LOTHleVEIEETEL 61hH LOTHeVHH FS Liglipe] FHIHD 2 siTens?
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26.

27.

(A) el (B) s90mT6H (C) Gayonm (D) amfuimerr
Ans - (C) Gsyenm
Match List I with List Il and choose the correct answer from the codes given below :

(FIFA world Cup Football)

List | List 11
(a) Russia 1. 2006
(b) Brazil 2.2010
(c) South Africa 3. 2014
(d) Germany 4. 2018
@ ® @© @
(A) 4 3 2 1
(B) 4 3 1 2
© 3 4 2 1
(D) 4 2 3 1
Ans - (A) 4 3 2 1

uCigwsd 1 ed@ba uliguisy 1l Qurmssis. Fllwmer ellewLsnw GPuibseaiedmbal CHTHOHG :

(Tur ©_eualIBHI 1L SHTEVLIHHI)

U lguisv | uguisd 1
(a) goduwim 1. 2006
(b) WGy&sL 2. 2010
(C) Opetr yifdaT 3.2014
(d) Ggimiossl 4.2018
@ ®® @© @
(A) 4 3 2 1
(B) 4 3 1 2
© 3 4 2 1
(D) 4 2 3 1
Ans - (A) 4 3 2 1

The Union Government launched the new digital payment system, Bharat QR code in February
2017. QR code stands for
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28.

29.

30.

(A) Qwerty Response Code (B) Quick Response Code
(C) Queue Response Code (D) Quasi Response Code
Ans - (B) Quick Response Code

Mageufl 2017-@6v AW opas umyps-QR @fluih eeims LyBHw  erewienilevdd Liewid OFevIHSI
wempulemen GaTLsdulsenadl. QR @Puip eeius wsd Gl EID.

(A) Qwerty Response Code (B) Quick Response Code
(C) Queue Response Code (D) Quasi Response Code
Ans - (B) Quick Response Code

The integrated grievances redressal platform for petroleum and gas related queries across social
media launched by the union ministry in March 2017 is

(A) Gem SPV (B) URJA MITRA (C) MOPNG e Seva (D) Petro e Seva
Ans - (C) MOPNG e Seva

onrF  2017-Q60, HHU  DDIDFFHHHTE) FpH 261 HHIB6H0  Hloubd  eneUbSLILILL,
QuLGgred oBWID euTwH QFHTLITLTN FHOHEMBEDHEHEG 6B QRHBIMMBHS GWB  Hey
B UWIKIG SH6MLD

(A) Gem SPV (B) URJA MITRA (C) MOPNG e Seva (D) Petro E Seva
Ans - (C) MOPNG e Seva

The new 4 elements added to the periodic table since 2011. They are

(A) 113, 114, 115 and 116 (B) 115, 116, 117 and 118

(C) 113, 115, 117 and 118 (D) 114, 116, 117 and 118

Ans - (C) 113, 115, 117 and 118

SIS aBMlsd 61  UHw BTG 2 mIlsbseT  Helllo i Leuemswiufeo  2011-60
QenemrbBLLL 7

(A) 113, 114, 115 wigw 116 (B) 115, 116, 117 wpmio 118
(C) 113, 115, 117 wpgo 118 (D) 114, 116, 117 wipw 118
Ans - (C) 113, 115, 117 wpmi 118

Which of the following day has the theme ‘Cultural Heritage and Sustainable Tourism’ in the
year 20177

(A) World Environment Day (B) World Earth Day
(C) World Heritage Day (D) World Meterological Day
Ans - (C) World Heritage Day
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31.

32.

33.

‘HeOTFFMIL  UMFUAWID  BEID  BeneohBISHHHHH — SHBMIeOToUTRIeND”  66igh  2017-SID
SUEWNYBBTR RbH HeMHH6N  HHLICUTHETTEHLD.

(A) 2_ 608 FBBIFGLEL Hed (B) 2_6va 1l Hewrid

(C) 2_6v5 umpbuflw Hewrd (D) 2_6v& aumarilwieumuiey glebd

Ans - (C) 2_svs umpouflur gevrd

Pick out the correct statement

(A) The global average surface temperature has increased over 20" century by about 0.6 C
(B) The global average surface temperature has increased over 20" century by about 0.7 C
(C) The global average surface temperature has increased over 20" century by about 0.8 C
(D) The global average surface temperature has increased over 20" century by about 1 C
Ans - (A) The global average surface temperature has increased over 20™ century by about 0.6 C
Fflwresr FaBewm Fillg SHTLL D

(A) yeluieir gyref Geuliubemsd ol 20-yid BIBBIwIged 0.6 C o withsieeng

(B) ysiulenr sgrafl Qailiugens ol 20-auib BrBmrewiged 0.7 C o withsiemengi

(C) yalulerr sgraf Qalugems ol 20-aub BrBmIewiged 0.8 C o _withsiemengi

(D) yeudeir gyref Geuliubeamsd ol 20-suid BIBBIewEIged 1 C o _withsiemeng

Ans - (A) yelulenr grmef Gauliugemsd el 20-uid BrBmresigsy 0.6 C o _wiibglseng
Johannesburg 2002 United Nations Conference was on

(A) Software Development (B) Transport Development

(C) Sustainable development (D) Community development

Ans - (C) Sustainable development

meHW BrhHselen wrpTH 2002-Gsv CmrasBamavUTdsled BLbHHH. RH6i CHTHHD

(A) GuesiiQuIT@eT GobLm (B) Guns@aursgl Guomun®

(C) Buemss&Hs Gur® (D) sewps Gowur®

Ans - (C) Guemiss&bs Goiun®

Match List I with List Il :

List | List 11
Place River
(@) London 1. Seine
(b) Paris 2. Thames
(c) Soviet Union 3. Cauvery
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(d) Tamil Nadu 4. Volga
@ ® @© @
A 1 3 4 2
(B) 2 1 4 3
() 4 3 2 1
D) 2 3 1 4
Ans - (B) 2 1 4 3
U iguisd | U tguisd
L ib b
@) GUGTITL_ 68T 1. &Fei
() urflerd 2. Bziberd
()  Gamelwg weflwe 3. @i
@d)  zpEi6 4. GeureosT
@ ® @© @
(A) 1 3 4 2
B) 2 1 4 3
Cc 4 3 2 1
D) 2 3 1 4
Ans - (B) 2 1 4 3
34. Where we can see the ‘Sigiriya Paintings’ which is highly influenced by the Ajantha style?
(A) Burma (B) Sumatra (C) China (D) Sri Lanka
Ans - (D) Sri Lanka
SIWbeHT @ellwnhissfer HTEsHmal ubpieTen “Haflwn” gelwrises 2 sifem GL b
(A) uiom (B) sogym (C) oo (D) @ovmiens
Ans - (D) Gevmisns
35. List out the five dynasties of Delhi sultanates in order
(A) Slave, Khilji, Tughlaq, Sayyids, Lodis (B) Khilji, Slave, Tughlag, Lodis, Sayyids
(C) Lodis, Sayyids, Tughlag, Khilji, Slave (D) Slave, Lodis, Sayyids, Khilji, Tughlag
Ans - (A) Slave, Khilji, Tughlag, Sayyids, Lodis
QL6ve FevgmTallwbmad ' & OFUlsH DMbH aIDFHIGmeT alflenFILGBHHIS.
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36.

37.

38.

39.

(A) sugemin, Hevgdl, HIHeNdh, mFuIg, BGevrlg

(B) #eved, sugenio, &idbend, Gsomg, enaFulg

(C) Govmg, emFwIgl, &Hib6Nd, B0, DlYEHLD

(D) ougemio, Geomg, emauwigl, &6ved, HibHed

AnNs - (A) sugemip, Heved, HIHeNd, mFwigl, Gevrly

The founder of the Bahmani kingdom was

(A) Muhammad Shah (B) Firoz Shah

(C) Mahmud Gawan (D) Alauddin Bahman Shah

Ans - (D) Alauddin Bahman Shah

uriflell oiFens Hmieluleu

(A) sz agr (B) 1Ggmerd ergm

(C) wasiwg STeue (D) oieomaydet LITDGTOHT

Ans - (D) oiomeyden LTS

“Doab” means

(A) The region between two cities (B) The region between two rivers
(C) The region between two mountains (D) None of these

Ans - (B) The region between two rivers

“Bapm Y1 Tl ILIBOIS

(A) 86 BEIMSEHSEG SmLUUCL UGS (B) @® pdsense @it G
(C) @m wemevsEnHE SenL Ll L Heollgd) (D) Qeupmisit s1gIeLO606M60.
Ans - (B) @m paHsenHE& Sl L UGS

The First Secretary General of SAARC

(A) Jinnah (B) Abul Ahsan (C) Kofi Annan (D) Gandhiji
Ans - (B) Abul Ahsan

gired oemwllder (pHed GuTEHIF GFweomsrit

(A) edetreonm (B) @i ue9mes

(C) Gamil  eyeur6it (D) sl

Ans - (B) oiysd ouegei

Pt. Jawaharlal Nehru’s Five principles of peace are named as

(A) Swadeshi (B) Apartheid (C) New Deal (D) Pancha Sheel
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40.

41.

42.

43.

44,

Ans - (D) Pancha Sheel

Letigs egsuamieorsy Chmealel Sienoglbsma mbsH bF OsTsiiens

(A) 5654 (B) @ @aidbmsd (C)udw vwenfleno (D) uehs Fooib
Ans - (D) uehs Fooid

Recognized official language of India

(A) 25 (B) 22 (C) 23 (D) 27

Ans - (B) 22

AbSHwimelled SmiESHNHSILL L GLomdsei

(A) 25 (B) 22 (C)23 (D) 27

Ans - (B) 22

The Supreme Court consists of how many judges?

(A) 26 (B) 22 (C)25 (D) 21

Ans - (A) 26

2 FFHAHIGIBHIH60 HEM6VMID HHLIGH 2 LLL 61HHMe HHLIGHH6T 2 6iT6rentiT?

(A) 26 (B) 22 (C) 25 (D) 21

Ans - (A) 26

The Parliament of India consist of

(A) One house (B) Two houses (C) Three houses (D) Four houses

Ans - (B) Two houses

@bHUI UTTTEHLOGTBID ----------- SIMUMUI  O\BTEMILHTGLD.
(A) @B Siemen (B) @rewisy Siemeusbsit
(C) apsiipi - iemaugssit (D) preii@ Sieneudbsei

Ans - (B) 6w oieneubsit

An entrepreneur is like

(A) a crow (B) a duck (C) a peacock (D) an eagle
Ans - (D) an eagle

QM OsTeOpenanGourit eaiieuT Wmeny Gumev o siTenmir?

(A) @ s (B) 6 ansa (C) o wullsd D) o® swe
Ans - (D) g0 w6

How many people does each ration shop serve?
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45.

46.

47.

48.

(A) 2000 (B) 2500 (C) 3000 (D) 3500
Ans - (A) 2000

@6UGUTH BTl efleneud HEWLUJD 61616166 LDHHEHHE 2 H6BmEHI?
(A) 2000 (B) 2500 (C) 3000 (D) 3500
Ans - (A) 2000

Which Government started the Land reform legislation?

(A) Panchayat (B) Local Government

(C) State Governemnt (D) Central Government

Ans - (C) State Governemnt

BeoFFTH MBS FLLHMS OHTLRISW DiysH 6157

(A) ughamwisaEl (B) 2_siignT oirs (C) wrHev Siya (D) wsghur =iy

Ans - (C) wrilev Siya

What was the fund limit of a small scale industry in the tenth five year plan?

(A) 75 laksh (B) 100 laksh (C) 50 crores (D) 75 crores

Ans - (C) 50 crores

USHHTD MbHTewih FHLHHs0 Fpl OHThed Bmieusumhisefst Ba Siene) sleien?
(A) 75 oL g1d (B) 100 evr_&1d (C) 50 Gy (D) 75 Gamig

Ans - (C) 50 Gasmg

The 1857 Revolt was sparked off due to the reason

(A) New form of turban (B) Greased Cartridges

(B) Doctrine of Lapse (D) Abolished the Bata

Ans - (B) Greased Cartridges

1857-o41d ouemi(h HVBHHIHEG 2 L Ngd HIT6RID

(A) P cUmB HEEVLILITEND (B) Gamapiiyy sLelut GHTi L mdbeit

(C) aurfla: @piiys QET6iTend (D) @rienLiing 5HH CFuiHsed

Ans - (B) Qamapiy sLelul GHIi L méssit

Who repealed the Vernacular Press Act and earned much popularity among India?

(A) Lord Curzon (B) Lord Ripon (C) Lord Lytton (D) Lord Maya

Ans - (B) Lord Ripon
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BTG  Oomfd QFUNGFHT FLLSHMS [HH QFUIH BbHw Idseillen G  GUEHID LS
QuiBmeuiT

(A) sitger 17y (B) Moussr 1y (C) e et Iy (D) GuBwir gy
Ans - (B) fouesr 19y

49. If 1/8 of a pencil is black, ¥ of the remaining is white and the remaining 3 % cm is blue find the
total length of the pencil

(A) 9 cms (B) 7 cms (C) 8 cms (D) 10 cms
Ans - (C) 8 cms

Q@M Ouendlelss 8-8s0 1 umsED HEHUY BBWLTSD, WBHI uGHUlsL urg  Geusitens
BIBLOTS)LD, Bapsiten UGS 3 %2 GF.15. B0 BHBTEa|D SmbHTe0, Ousifledst Gordhgs  Hemd
6160160 ?

(A) 9 GF.8. (B) 7 Ga.15. (C) 8 @g.15. (D) 10 @&.16.
Ans - (C) 8 Q.15

50. A tin of oil was 4/5 full. When 6 bottles of oil were taken out and four bottles of oil were poured
into it, it was % full. How many bottles of oil can the tin contain?

(A) 35 (B) 40 (C) 42 (D) 60
Ans - (B) 40

QM oreviGewiul 19eir  4/5 utsd  HOBHAGBHESSH. AN ®BH 6 LLIQHET  eIeRTOlsmIEnUL
TBSHNN B, 4 UllgseT eTemblemrenu! oobmid GQUTIpsl SiH ¥4 UTsld HeBbhdHmhas ey,
SIbD eiimIenL Wl (W GemeienenelB@ sTdHHmen LILlpHslT eTeniblemn GHeneuwmraimal?

(A) 35 (B) 40 (C) 42 (D) 60
Ans - (B) 40

51. When an amount was distributed among 14 boys, each of them got 80 more than the amount
received by each boy when the same amount is distributed equally among 18 boys. What was the
amount?
(A) ¥ 5,010 (B) ¥ 5,020 (C) % 5,040 (D) % 5,000

Ans - (C) % 5,040

Q6 GUUILL OCsTemsmw 14 svuwerssfenLCu umSGL Qurwal, <16 OCmTemdEenw 18
GufiLib  Fwworsll  uRAGD  CQuTd HoLliumsd ol @elGam@melmd I 80  SFHsD
QuEBISBTTH6T. CHTeWed 6T6dToN ?

(A) % 5,010 (B) % 5,020 (C) T 5,040 (D) 5,000\
Ans - (C) % 5,040

52. Cost of 3 pencils and 5 erasers is ¥ 34 and cost of 2 pencils and 7 erasers is ¥ 30 then cost of a
pencil is
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53.

54.

55.

(A)X8 (B)X5 ()4 (D)X 2
Ans-(A)X 8

3 611pHIBHTLHEHD 5 SflLTeseEnDd GFThm elewsv I 34 Guoeud 2 61(WHCHTOHEHD 7
Sipliumeiisenn CFTha eflensy I 30 safled @@ s11pHIGHTEI6 6llensv sr6iien?

(A)X8 (B)X5 ©)%4 (D)X 2
Ans-(A)X 8

Any point of X-axis has its

(A) abscissa zero (B) Ordinate Zero
(C) abscissa and ordinate are zeros (D) neither abscissa nor ordinate as zero
Ans - (B) Ordinate Zero

X- oFfleit BHMWHS 61HHOUTH LisiTeNeH@GHWD DigH6h

(A) HewLiol L puiddaml LEUILD

(B) opmws smm Lguid

(C) AewLiol L oB@mIDd GHHHTUIS FamIdeT LLE3uiDd

(D) SenLiol L 1oB@ID GHHSHTUISH FnBIB6IT LD SI6060

Ans - (B) &sTwHS Faml 1L g3uid

The sides (in c.m.) of a right angled triangle are x-1, X, x+1. Then area of the right angled triangle
is

(A) 12 sg. cm. (B) 6 sg. cm. (C) 20 sg. cm. (D) 22 sg. cm.
Ans - (B) 6 sg. cm.

QM OFmBsTem (WHCHTaHH6 LbBEIBT (OF.15) X-1, X, Xt1l. eeafled FCQFHRIGHTemT
(pHCHTEMH 6 LITLILISTE)

(A) 12 5. Q5.8 (B) 6 &. Gs.15. (C) 20 5. Q&.8. (D) 22 5. Q&.18.
Ans - (B) 6 5. Q.15

A cuboid box has the square base of side a cm and height b cm then volume of the box is
(A) a° b* cm® (B) ab*cm® (C)a’bcm® (D) a*h? /3 cm®
Ans - (C) a®bcm?

& OFueus QUL @IBlE DIQLILIGEHD FHITOTHD IAFFHTHDHO LSHD & CF.L5 H6e|b
Quiiguisir 2 _wyd b GF.5. susead SMUIleST DiGHe Ham DieTe)|

(A) a2 b G.16° (B) ab? 015" (C) a2 b Q.15 (D) a%b? /3 G16°
Ans - (C) a® b Gg.18°
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56.

o7.

58.

59.

Price of a suitcase is increased from % 2,000 to ¥ 2,500. What is the percentage of increase?
(A) 20% (B) 22% (C) 30% (D) 25 %
Ans - (D) 25 %

U Quwirelen  eflewsv T 2,000-60 BHHE! % 2,500-o45 oiFHafobsiinn Lme; igshiner
FHMNBHID Wirg)?

(A) 20% (B) 22% (C) 30% (D) 25 %
Ans - (D) 25 %

The difference between simple interest and compound interest on ¥ 2,400 at 2 years at 5% per
annum compounded annually

(A)Z5 (B)Z 6 (€)% 7 (D)% 8
Ans - (B) % 6

T 2400 -6@& 5% e ai'ly ofHD 2 PwihdeMed HMLbG Sl Il IgHGD, a6
QLpSE@GD 2 6iem ellSHWTFID

(A)X5 (B)X 6 Cc)r7 (D)X 8
Ans-(B)X 6

Three men A, B and C can complete a work in 10, 15, 30 days respectively. A and B work
together for 3 days then A leaves and C joins. In how many days can B and C finish the
remaining work?

(A) 5 Days (B) 6 Days (C) 10 days (D) 7 Days
Ans - (A) 5 Days

A5 B, C aeiim cpsiip  wellsisst @b  Goatensvenwt  HaflbHaGuwi 10, 15, 30 BT H6iM6v
wpliuniset. A-uidb B -upb apsiiml pil send@ CFTha Caiemev UMTHEION B A afevd el
C Gombagl OQbmendmit. Hpsiten Gousnsvenut B-ujid C-wjid e1HHemen BT H6160 (LpIQLLiT?

(A) 5 B sl (B) 6 mim_seir (C) 10 pri_msit (D) 7 mir_ssit
ANs - (A) 5 Br_aseit

A car covers a distance of 90 km at a uniform speed. Had the speed been 15km/hr, more, then it
would have taken 30 minutes less for the journey. Then actual speed of the car is

(A) 45 km/hr (B) 75 km/hr (C) 60 km/hr (D) 90 km/hr
Ans - (A) 45 km/hr

QM LIAWHS eusmgwteaid @8y Fgrem CousdHHsd 90 &5 HMTHMSH HLEHBH. DIH6H
Boaumss@ed 15  &H.uSwewll  eleiimene) HNFHBNBHULHHBSTD  Lwiewt  GhI 30 PO kigbei
GOBHAMHBGID 6T6als0 Dislebdk OFeis Frmenr Gousd 6157

(A) 45 &.16/wemfl (B) 75 &.u/wemfl (C) 60 &1/ 1oem (D) 90 &.15/ 6w
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60.

61.

62.

63.

64.

Ans - (A) 45 &6/ wewfl

Median of first eight non-negative integers is

(A) 4 (B) 3.5 (©)8 (D) 8.5
Ans - (B) 3.5

(WPH60 61L(H GHMBWDBB (LP(LD 6TE0IH6IM6N E6nL_Blemeowlene) 61gI?

(A) 4 (B) 3.5 (C)8 (D) 8.5
Ans - (B) 3.5

Which of the following pair is correct?

(A) 6400 km and 6.4 x 10° cm (B) 2 x 10* cm and 2 x 10° mm
(C) 800 m and 80 x 10° mm (D) 100 um and 1 mm

Ans - (A) 6400 km and 6.4 x 10° cm

SLDSHEWILQUBMI6T 616D FLOLDT6I6ENEN ?

(A) 6400 km wimio 6.4 x 10° cm (B) 2 x 10* cm wimio 2 x 10° mm
(C) 800 m wimito 80 x 10> mm (D) 100 um wBmi> 1 mm
Ans - (A) 6400 km wipio 6.4 x 10° cm

The hottest planet of our solar system

(A) Neptune (B) Venus (C) Pluto (D) Uranus
Ans - (B) Venus

G&fw Gohbussler s Geuliorer Gamei

(A) GpLiguyei (B) ussh (C) uepL GLm (D) wBgemero
Ans - (B) ysein

A Conductor of length 50 cm carrying of 5 A is placed perpendicular to a magnetic field of
induction 2 x 10° T. Find the force on the conductor.

(A)5x10°N (B) 3x 10°N (C) 4.9x 10° N (D)5x10°N
Ans - (A)5x 10° N

5 A WG L umyd 50 QE.S. Benupsien HLHH 2 X10°T &1hs ST QBTHIL HMhS
U0SHBE OFhIGHHHTE maubElILGEBEH. H_GHHuler 1WgH CFweOLGD olengFemulds HTewsb.

(A)5x10°N (B) 3x 10°N (C) 4.9x 10°N (D) 5 x 10° N
Ans - (A)5x 10° N
Which of the following weights the most?
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65.

66.

67.

(A) One mole of water (B) One mole of Sodium

(C) One molecule of H,SO, (D) One gram-atom of nitrogen

Ans - (B) One mole of Sodium

SIDHTEILIUBRIOT 6TFH| HELDTEG]?

(A) @@ Gomsd BT (B) @m Gomev @Fmiguid

(C) 20 apsvdamm HSO, (D) 9® @Agmb Sigm HBLFE26H

Ans - (B) @m Gumsd Bamguibd

The elements like silicon, tellurium and germanium can be purified by

(A) Electrolytic refining (B) Mond’s process

(C) Zone refining (D) Pattinson’s process

Ans - (C) Zone refining

Fedmer, OLsuiflwib, Qimorefluid Gumsis SHeMomisamen SHTUlHLUGHS LWsTLGLD (Wedm
(A) 1DlediennTi3  HITUIEHLOUITEH60 (B) wmewin’  (1pemm

(C) aimau(penans HTUIHLOUITSSHED (D) unt eiiger (pemm

AnNs - (C) aimau(pemeid STUIEnHLOUITESS60

------------- is the basic unit of classification.

(A) Division (B) Family

(C) Class (D) Species

Ans - (D) Species

QUEMBLILITL QU606 SIQLILIDL. DI6VE@ ------- G LD.

(A) Uifley (B) ®®ioud (C) iy (D) fipilemd
Ans - (D) fApslenip

Who coined the term “Biosystematic?”

(A) Bentham and Hooker (B) Camp and Gily

(C) Watson and Crick (D) Garner and Allard

Ans - (B) Camp and Gily

“LUNGaTHemed BUENSBLILITL IgUIEL” 6T63IB CFTBHMET LIPSBHHIABE 6BHTIH MbHHAITHT WITT?
(A) QUi WBEBID QGBS (B) Gaibll oBmid &lsved

(C) aurl_seir BmID AHiflés (D) snitenit oBE@Id S60TITH

Ans - (B) Gasibl1 oBmid 8606l
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68.

69.

70.

71.

Bacterial diseases syphilis is caused by

(A) Vibrio Cholerae (B) Treponema pallidium

(C) Neisseria gonorrhoea (D) Yersinia pestis

Ans - (B) Treponema allidium

Fiederd etett3 LTl GBHTUI o (HeuTd HTYemIOTE &l([HLO

(A) eltMBwir smeu@y (B) 9M@umeflior  LimedL b

(C) Blerv@aflwmr Gar@smmfuim (D) errdlexfiwur  Guisrbigerd

Ans - (B) pfBurefiior umedL1b

Which hormone is called as fight, flight and fright hormone?

(A) Epinepherine (B) Glucagon

(C) Thyroxine (D) Vasopressin

Ans - (A) Epinepherine

6ibd amTTéomer GsTuD, @ULID BE@ID LWpBHSHe0 aprTlmer eaaip SimpsslLbEBH?
(A) o196 B." Lfledr (B) ®6mdGsmamei

(C) ewsynaserdei (D) sur@sromt niyerveniest

AnNs - (A) en16m. .ufled

What is-the theme of the 2017 World Health Day (WHD) ?

(A) Move for health (B) Food safety

(C) Depression : Let’s talk (D) Working together for health

Ans - (C) Depression : Let’s talk

2017 2 60% 2 _Ls0pev Brefler SHUGUITHST (ulal QUITeT) 61gI?

(A) 2_Leopeold BrTHa GFsuenIgHe0 (B) 2_ewiey uTGISTIIL]

(C) e SipHSID : BuFeLTD (D) 2_LeopevsSiBaTs Senemibs LsnMBre
Ans - (C) wen o1pHs0 : GugeuTD

The 104™ Indian Science Congress meet was held in

(A) Sri Venkateswara University, Tirupathi (B) Anna university, Chennai

(C) Osmania University, Hyderabad (D) Jawaharlal Nehru University, Delhi
Ans - (A) Sri Venkateswara University, Tirupathi

10460z @pHw fielwsd Hs Fal LD Bl GUBB @@L 1D

(A) 1f QeumIBBLeroaIIT LIsLSHEMEVBLINEID, BHHIILIG)
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72.

73.

74.

(B) Siemiiemim  LIOBMEVBINEID, Q\F siTenet

(C) gervomeiuim  LIsHEENEVSIBID, HABSHITLTS

(D) meuamirevmsd GrH LIsLBMEVHINSGLD, G 6060

AnNs - (A) 1f OaumIBGLEAIIT LIsLSHMEVEIEHID, HHLILIG)

Which one of the following is correctly matched?

(A) Narayan Murthy

(B) Anand Kumar

(C) Aiswarya Rai

(D) Amartya Sen

Ans - (A) Narayan Murthy

Hoover Medal

Kyoto prize

Legion of honour

Knight of the order of Arts and letters

- Hoover Medal

SpGEBUAILLuGUsBpIeT eig Fllwms QUTmHbHaHISBHI?

(A) Brgmwsst apirsg)
(B) 2uemibd @tonir
(C) sgerveuitwr gmul
(D) swirsdHuwr Qe

ANS - (A) BrgTwest epTHe

- enfeulm GsLwib

- SEwrGsm ufla

- oiedlwiell Sl Sy euoriT

- Bl S & WTLT Sl ied DewiB Gleol LmTerd

- enfeulm G wid

Who is the Chief Minister of Kerala?

(A) Ooman Chandy
(C) Pinarayi Vijayan
Ans - (C) Pinarayi Vijayan

Ca6eNT  (LpHEOMDFFT W ?

(A) 2_1bweit  Fmemig
(C) Semgmuit e eguiein

Ans - (C) tewgmui el gguiesn

(B) A.K. Antony
(D) Baby John

(B) 61.05. 60100l
(D) GuY ggmei

With which field, Dev Patel in associated?

(A) Drama (B) Cinema (C) Fine Arts (D) Sports

Ans - (B) Cinema

B LIBL6L 61hg HIMBOWITH OFHTLTLeHL WieuiT?

(A) BrLsLD (B) Semriiiib

Ans - (B) HewyliuLib

(C) sallin memev (D) ellememuim_®
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75.

76.

77.

78.

79.

ISRO creates history in space by launching 104 satellites in one go on
(A) 15" January 2017 (B) 13" February 2017

(C) 10™ December 2016 (D) 15" February 2017

Ans - (D) 15™ February 2017

104 Qewibens Bameidemst @BF (ewBwiTed  elawmenied OFasHa Eev8IT eITeOTBBIF &FTHemen
LewL$HS [BIT6IT.

(A) 15. egemeul, 2017 (B) 13, 1uyeud, 2017
(C) 10™ geibuiir, 2016 (D) 15, Wiiyeuf, 2017
Ans - (D) 15, Wiigeufl, 2017
How many candidates contested in the R.K. nagar By-Election in 2017?
(A) 127 (B) 62 (C)68 (D) 45
Ans - (B) 62
2017-60 R.K. psT @ewL s Bpismedsyd Gumiiguil L Geul Limenitaeei sremrenidsemnd
(A) 127 (B) 62 (C)68 (D) 45
Ans - (B) 62
Malaysian Air flight crash of 2014 was done by
(A) Syria (B) Iran (C) Ukraine (D) Pakistan
Ans - (C) Ukraine
2014-s41p0 ew1B 10BsuFlwl elioTeidHensd HTHE allpHIHUISI.
(A) Aflwr (B) rrymedt (C) o_semgeir (D) uralerogmeir
Ans - (C) 2_senyei
The software used to navigate through the web is known as
(A) Website  (B) Web Browser (C) Internet (D) World Wide Web
Ans - (B) Web Browser
QememiwisHFHe0 2 evaill. 2 HalBIiD CLosTOILITHeT 61&I7
(A) Sememgenid (B) @ememiw 2_sve
(C) @ememiuid (D) 2_svmenmmailul 6660 SIGWLOLIL]
Ans - (B) @enemia 2_svel
ASCI has set up a set of guidelines for celebrities endorsing products in April 2017. ASCl is
(A) Authorized Standards Council of India
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80.

81.

(B) Advertising Standards Council of India

(C) Authentic Standards Council of India

(D) Authentic Standards Court of India.

Ans - (B) Advertising Standards Council of India

o BUSHA QUTHLHEHEG @LULMNSHEH eI LITIpsTHEndaTar alfwens CHT@&LL elene
ASCI giiged 2017-@6v Blmieilugsiienal. ASCI srssiugi

(A) Authorized Standards Council of India

(B) Advertising Standards Council of India

(C) Authentic Standards Council of India

(D) Authentic Standards Court of India.

Ans - (B) Advertising Standards Council of India

The technology which transforms soybean oil into graphene films in a single step is named as
(A) Graphsoy Technology (B) Graph Air Technology

(C) Bean Graph Technology (D) Nut Graph Technology

Ans - (B) Graph Air Technology

Camwmr  Sieueny eTeMICEIENW  @BeMML  Liguiled  SIFT. LI LILevmISNTS 2 (HOTBBLD  OlFUIU|LD
OasmMABHIL LD @eueurm CQuwfL L HeiTeng).

(A) S .LGsm GsMABHIL LD (B) &gm.".Ligit OsmABHIL LD
(C) Sewralym.".1 OHMABHBIL_LID (D) prdyr. .1 GamABHIL_ LD
Ans - (B) &g .lgit QsmABEIL_ LD

Match the following :

Earth Quake Related to year
(@) Lomaprieta 1. 1999
(b) North ridge 2.1989
(c) The Turkey 3. 2003
(d) The Algeria 4. 1994
@ ®® (©
(A) 2 1 3 4
(B) 4 3 1 2
© 3 2 4 1
(D) 2 4 1 3
Ans- (D) 2 4 1 3
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QUTHSHHIH :
Uallwdimgd QHTLiTL6TTEN  S6001(H
(@) GeomomafLr 1. 1999
(b) Bt g 2.1989
(€) s1mHS 3.2003
(d) eoesfiwn 4.1994
@ ® @© @

(A) 2 1 3 4

(B) 4 3 1 2

© 3 2 4 1

(D) 2 4 1 3

Ans- (D) 2 4 1 3

82. Pick out the correct statement
(A) India received 75 percent of its water supply from ground water mining
(B) Saudi Arabia receives 75 percent of its water supply from ground water mining
(C) Iran receives 75 percent of its water supply from ground water mining
(D) Sudan receives 75 percent of its water supply from ground water mining
Ans - (B) Saudi Arabia receives 75 percent of its water supply from ground water mining
Fflwrenr ellenLsnul H6ewIBHLIIGHHA|LD
(A) @bdwr 75 al(pssTH By Bevddlg BT cpsvld CUBIB GBS
(B) soud o@riwim 75 oNipdbsrh BwJ Hlevbhdly BT cpsvld GLmIE MBS
(C) mymett 75 eN(pHSETH BHOJ BevHdHlg BT cpevld CUBIB GBS
(D) @Lmenr 75 a(pdstB Bewy Blevdhdly BT cpsold GBI HIBS
Ans - (B) goud oiB@rlwmr 75 ellqpsst® Bewy Blevdbdlg BT cwevld QUBIF B
83. Theory that explains the location of industry
(A) Weber’s Theory (B) Christaller Theory
(C) Vonthunan Theory (D) Malthus Theory
Ans - (A) Weber’s Theory
“Oamevs SiemwaiL Gsmiur®h”
(A) Qeuuit Gam_un® (B) énfleroLmevit Gami_Lm(®
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84.

85.

86.

(C) ouretigmensnt G Lim(p (D) wrevmery GsmuT®

Ans - (A) Qeuuim Gsm_um(

‘Aryavarta’ referred to

(A) Central India (B) Srilanka

(C) South India (D) North India

Ans - (D) North India

SUTIGITSSID sTa LGS
(A) wsBw BB (B) @evmienas
(C) Gzpshaibglum (D) au_ @i
Ans - (D) au_ @pawn

The last Mauryan king was

(A) Kunala (B) Dasaratha (C) Samprati (D) Brihatratha

Ans - (D) Brihatratha

Qe eubFHSeT HWLF  DIFF6dt

(A) Gemmenei (B) ssggen  (C) smbligg)l (D) Upssysen

Ans - (D) WmpssTsHen

Match the leaders and their reform movements :

(a) Raja Ram Mohan Roy 1. Theosophical Society
(b) Dr. Atmaram Pandurang 2. Arya Samaj

(C) Madam H.P. Blavatsky 3. Prarthana Samaj

(D) Dayananda Saraswathi 4. Brahmo Samaj

@ ® © @

A 4 2 1 3
B) 3 2 1 4
© 2 1 4 3
(D) 4 3 1 2
Ans - (D) 4 3 1 2

Fepd FTH MBS QUITHBMEMUID DIQITHEM6T EUISEHISMEMUID CUTHHHIS.

(@) greggrymid  GLomeeBIyTUl 1. dybwepten Femu
(b) @uswyMD LTEHIHIH 2. SIfUI FLOTEID
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87.

88.

89.

90.

(c) G H.P. enmmeut_erod 3. LPTHSHeT FIOTEID

(d) swrenhs Fyaveus) 4. b0 FLoTegLd
@ @G @© @

(A) 4 2 1 3

(B) 3 2 1 4

© 2 1 4 3

(D) 4 3 1 2

Ans - (D) 4 3 1 2

Bimbisara belongs to which dynasty?

(A) Haryanka Dynasty (B) Shisunaga Dynasty
(C) Nanda Dynasty (D) Mourya Dynasty
Ans - (A) Haryanka Dynasty

LIbIFTy6e 6lhd GUDFHMBHF FiThHH6UT?

(A) emTwBIST 6uDFLD (B) Algprs  oubgid
(C) Bb® eubaID (D) Quwenflw eumbeid
ANS - (A) mBiTwIkIST aID&FID

How many kinds of Democracy are there?

(A)3 (B) 2 ©1 (D) 4

Ans - (B) 2

OSHONTL & 61SHHmen  eIenSLILIBHLD?

(A)3 (B) 2 ©1 (D) 4

Ans - (B) 2

The most popular form of Government in modern days

(A) Monarchy (B) Oligarchy (C) Democracy (D) Hierarchy
Ans - (C) Democracy

HBHT0HH60 10&a D LIJHHa GUBB DFFTHIG (LHeOB

(A) wedreorymi_d (B) o_wit @gw_ &

(C) wasenmi_d (D) siourdany o6

Ans - (C) wéaassnmi_d

Election Commission of India is Situated at
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91.

92.

93.

94.

(A) New Delhi (B) Mumbai (C) Chennai (D) Moradabad

Ans - (A) New Delhi

BbHW CHTHEL MWD DiEDLOHEHI6TN S LD

(A) ygs GLsved (B) @pioewu (C) Qe stiement (D) wrrsmurs

Ans - (A) usl GLeved

The father of Local Self Governement is

(A) Gandhiji (B) Lord Ripon (C) Nehruji (D) Mountbatten

Ans - (B) Lord Ripon

o oo &l SITFTRIBHIN HHwSH 6l DiewLpdHLILBUT?
(A) ampgizd (B) Acies 1951
(C) Grmed (D) weyewii’ GLIL L 6t

Ans - (B) fouesr 19y

Money bills can be delayed by the Rajya Sabha only for

(A) 30 Days (B) 20 Days (C) 14 Days (D) 7 Days

Ans - (C) 14 Days

B& CFTHTESET OTHIEL SiHEUUTNSITED 6THHemen BT H6IT WL (B STOSLILIGSHSH60TLD?

(A) 30 Br_sei (B) 20 e _ssit (C) 14 mri et (D) 7 mrr_ssit

Ans - (C) 14 pri_seit

44" Amendment Act came into force in the year

(A) 1976 (B) 1947 (C) 1950 (D) 1978

Ans - (D) 1978

HMeaigl FLHHBSHSID DL (WPOBES clbDH UeI[H
(A) 1976 (B) 1947 (C) 1950 (D) 1978

Ans - (D) 1978

The First census of India was taken in the year

(A) 1870 (B) 1872 (C) 1874 (D) 1881

Ans - (B) 1872

AbHWTelsd (LPHILPHeJ6D DHH6T COHTend HembOBBLIL Bl HH 601H
(A) 1870 (B) 1872 (C) 1874 (D) 1881

Ans - (B) 1872
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95. In the procession against the Simon Commission he received fatal injury and died later
(A) Bal Gangadhar Tilark (B) Lala Lajpat Raj
(C) Tiruppur Kumaran (D) Gokhale

Ans - (B) Lala Lajpat Raj

MFLET  GUPIBE e1AHgTer  CUIITLL S0  HevbH QBT STWIedL G  Lierert 2 uflir
BHSET

(A) utev BRIBTHY S60HIT (B) sumeor eugguigy gmul

(C) AmiyT @Loyesr (D) GarsBev

Ans - (B) someor svgguIgs gmul

96. In 1928 a committee consisting of eight, was constituted to draw up a blue print for the future
constitution of India. It was headed by

(A) C.R. Doss (B) Lal Bahadur Shastri
(C) Mothilal Nehru (D) Mohammad Ali Jinnah
Ans - (C) Mothilal Nehru

1928-60 sIglitame @pbHwmalsn DFFweosIolI] FLLID @6ilenB alenJoubB@ ol Gui GameiL
GW JBUBHSUILLLSH. BB HesveuT

(A) C.R. &merd (B) evmed uBSHMT Fmerogdm
(C) Gomglsomsd Gr(H (D) psom1 169 elsienT
Ans - (C) Gurdleorsd GBm

97. Which of the following statement is not correct?
(A) Lord Mount Batten was made the first Governor General of Independent India
(B) Mohammad Ali Jinnah Became the first Governor General of Pakistan
(C) On 15" Aug 1947 India became an independent state
(D) On 16™ Aug 1947 Pakistan became an independent state
Ans - C On 16™ Aug 1947 Pakistan became an independent state
BHIDHBEML FBBIBEHET HAABTOH! 6157
(A) 5687 ShAHWmele (IpHe0 HMeVeHID DLETHBT GLosTeuin. GLIL L 6ir
(B) uraderogmenielt (IpHed HeWeVeHID DLEHBET (IPHIOHI N6l ofleienT
(C) 1947 aumadl 15-d BI6T @HAWT HSHAID DLBHSSI.
(D) 1947 symerol. 16-syid b6 LITEGOSHTE HHHATD DL BHE.

Ans - (D) 1947 symervl. 16-SuId [BT6T LTEEVSTE HHHATD DL HSHE.
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98.

99.

100.

In which years was the import of food grains in India is Nil?

(A) 1989 and 1990 (B) 1993 and 1994

(C) 1995 and 1996 (D) 1997 and 1998

Ans - (C) 1995 and 1996

@bgurells 2 _swie| Sreailwmiseis SBoEG0S LRdwoTs Rhbs UG 6157
(A) 1989 wipo 1990 (B) 1993 wmmio 1994

(C) 1995 wimi> 1996 (D) 1997 wimi> 1998

Ans - (C) 1995 wopmi> 1996

In which Agricultural crop production does India stand first in the world?

(A) Rice (B) Groundnuts (C) Tobacco (D) Sugar

Ans - (B) Groundnuts

sibg Geuenimenstemiols LUAT 2 BUSSHUTL SHHWT 2 6odlell (WPHed L SHlevd BBHBHI?
(A) @ind (B) GauirsL_emev (C) yewasuienev (D) gidbsemy

Ans - (B) GoufrsL_emev

How much does India contribute to the world sugar production?

(A) 15 % (B) 20% (C) 25% (D) 30%
Ans - (A) 15 %

o Vb FTHHMI 2 _MUbSHUled RbHWTeleT LG THHme FHeiHlD?

(A) 15 % (B) 20% (C) 25% (D) 30%
Ans - (A) 15 %
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